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dbiEE AR mdE X EEZALIRED — iR IRIE 12] ( 0.008 )| ( < 0.005 ) ~ ( 0.021
dtiEE FLIRT L X (E3E5] —RIRIE 12| ( 0.0075 ) ( 0.003 ) ~ 0.026
s  |fRtmmEX EREE2— —RIREE 12|( 0.0076 )] (< 0.0030 )~ 0.033
dbimE BB &/ NERGEIE D —RIRIE 12 0.008 (< _0.005 ) ~ ( 0.015
diEE  |EKEET EENMNERAER —RIRIE 12 0.006 (< 0.005 ) ~ 0.017
diEE  |RBldH FE — R IRIE 4 0.028 ( 0.008 ) ~ 0.056
dbimeE  [E/h B AER —RIRIE 12 0.010 (< _0.004 ) ~ 0.047
diEE | E/MEh L ENE]D) —RIRIE 12| ( 0.003 )| ( < 0.004 ) ~ ( 0.009
EE |F&Em BOHAIER —RIRIE 12 0.008 (< 0.005 ) ~ 0.029
EHRE |[BE&T BINERD —HRIRIE 12] ( 0.005 )| ( < 0.004 ) ~ 0.020
EHE  [shAETH EARTEE — R E —RIRIE 12|( 0.0053 )] (< 0.0019 )~ 0.026
EHE  |[/\Fm I\FINER B —HRIRIE 12 0.043 ( 0.004 ) ~ 0.39
EFE |[EMEH EEEB —RIRIE 12 0.092 ( 0.008 ) ~ 0.23
=F8 AiiEm BIBTD —IRIRIE 12 0.0062 (< 0.0020 ) ~ 0.020
=2FE kv t EHFEE —IRIRE 12 0.15 ( 0.0025 ) ~ 0.54
=2FE —_Fi ER —RIRIE 12 0.0058 (< 0.0020 ) ~ 0.033
EHRE |WETERFX|TEHE — R IRIE 12| ( 0.018 )| ( < 0.020 ) ~ 0.062
ERE |WETERFX |HEE —RIRIE 12 0.029 (< 0.020 ) ~ 0.082
EWE  IBE™ EE—RBREASAES — R IRIE 12 0.057 0.029 ~ 0.080
ERE | K&kH B I —RREASAES — RIS 12 0.092 0.046 ~ 0.33
ERE |=HIFEAE |EREER —HRIRIE 12 0.016 (< _0.005 ) ~ 0.051
MEE BRET L) —RIRIE 12| ( 0.013 )| ( < 0005 ) ~ ( 0.034
L8 Lz L2 KR PR S — iR IRIE 12 0.19 0.020 ~ 0.54
IRz 2 SBHETT EHEERES —RIRIE 12| ( 0.043 ) | (< 0.006 ) ~ 0.12
EER 5T F AR HT —RIREE 12 0.021 (< 0.0019 )~ 0.059
BERE |[REFEFWH SEENE —RIRIE 12 0.021 (< _0.006 ) ~ 0.055
BESE  [EH BARKIL A E —RIRIE 12 0.19 (_< _0.006 ) ~ 0.44
BEE AL FEF —RIRIE 12 0.21 (< 0.006 ) ~ 0.51
BER  |LWbhEm BLE —iRIRE 12 0.045 (< 0.006 ) ~ 0.18
EER =Rz B S —HRIRIE 12 0.044 ( < 0.006 ) ~ 0.16
ZBHE  |KETH KEBIB —iRIRE 12 0.070 ( 0.019 ) ~ 0.19
TR Hirm HiIm&mE — R IRIE 12 0.095 0.027 ~ 0.21
R n ob:: 1] TEREHE —IRIRIE 12 0.22 0.021 ~ 0.80
ZFHE  |[RBIBT BB T H (FBIER) — iR IRIE 12 0.058 ( 0.0046 ) ~ 0.42
RIE BAfET AAEGRERE —HRIRIE 9 0.42 0.18 ~ 0.88
ZWE  |FAET AR —hRIRIE 3 1.7 0.88 ~ 2.3
ZWE | HifE™ HIAEE B —RIRIE 13 0.062 ( 0.0033 ) ~ 0.44
ZRWE | HifET HIETEARE —RIRIE 12 0.069 (___0.0050 ) ~ 0.53
WARE [FH#HED 78/ —RRIRIE 12 0.15 ( 0.027 ) ~ 0.45
mARE  [HAR™ B8 E2/KE —RIRIE 12 0.37 0.056 ~ 0.98
mARE [XKHEH Bl EREEN 23— —HRIRIE 12 0.080 (< 0.0021 )~ 0.23
HmAE |[THH AEER —iRIRE 12 0.18 (< 0.0021 )~ 0.54
HEE HItET HItEm B —HRIRIE 12 0.43 ( 0.048 ) ~ 1.1
HEE |Eiamh FEAREE —iRIRE 12 0.60 0.098 ~ 1.2
HERE |[E&H HERELS— — R IRIE 12 0.50 0.062 ~ 0.80
HER AHM AH—EE —IRIRIE 12 1.2 0.37 ~ 3.3
BEER [Eh EINE1—8KB — AR IRIE 12 0.33 0.063 ~ 0.77
HEE Zohmh THhELI—HRE —IRIRIE 12 0.44 0.13 ~ 0.74
BERE [SOWVEFHEAR |ERAES —RIREE 12 1.0 0.29 ~ 3.6
BEE |SOVEFHAER | KEREM —RRIRIE 12 0.66 0.12 ~ 2.3
BERE  |[S0V-FhhiRE |BEREMEL2— —RIRIE 12 0.73 0.17 ~ 2.4
BEE SOV EFHNR | SO -FEmEFAER — AR IR 12 0.71 0.13 ~ 2.4
BERE |SOEFhAMR|EHAER —RIRIE 12 0.87 0.11 ~ 2.8
BmER JI#% T JIE ) 16881 TE —HRIRIE 12 0.64 0.066 ~ 1.3
BEE  |)I#EH Jl T = R E S —RIRIE 12 1.0 0.17 ~ 2.4
BER  [BEAT BB — AR IRIE 12 0.45 0.12 ~ 0.99
BEE =k NOmZRAER —RIRIE 12 0.64 0.16 ~ 14
BER  OHm NomEFEAER — iR IRIE 12 1.7 0.37 ~ 5.7
BER FiR LEFAER —IRIRIE 12 0.81 0.048 ~ 1.7
IJmEE  |MEh REHFERCH —RIREE 12 0.87 0.13 ~ 2.6
BEE /NI EXNIG) —IRIRE 12 0.49 ( 0.07 ) ~ 1.1
BER EBE&H EBE & —RIRIE 12 0.74 0.077 ~ 1.6
BEE  |#ahm RUAE — AR IR 12 1.0 0.095 ~ 2.6
FEE |FEHPRX |f8IEF —RIRIE 12 0.11 ( 0.0011 ) ~ 0.59
FEE |FERPRX |E)IDER —HRIRIE 12 0.10 ( 0.0014 ) ~ 0.68
FEE |FEHHRX FEHKER —RIRIE 12 0.074 ( 0.0011 ) ~ 0.52
FTEE |FTEWXEX |ERAE — R IRIE 12 0.28 ( 0.0011 ) ~ 1.3
FEE |8kFH FHHREE 2— —RIRIE 12 0.043 ( < 0016 ) ~ 0.39
FEE |Hhlm )IFEE — iR IRIE 12 0.60 0.15 ~ 3.3
FEE MetE™ MEEEER —RIRIE 12 0.23 (< _0.004 ) ~ 1.0
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FEE BT EBILETEE — iR IRIE 12 0.099 (< 0016 ) ~ 0.65
FEE |WFH WEREXD —RIRIE 12 0.96 ( 0.025 ) ~ 5.6
FTEE |WFM WEZYAXE —RIREE 12 0.40 0.032 ~ 15
FEE |WFETH WERER —RIRIE 12 0.42 0.044 ~ 1.4
FTEE |BHE™ BEHME SR —RIRIE 12 0.10 ( < 0016 ) ~ 0.76
FTEE |#h AEBED — R IRIE 12 0.19 ( 0.036 ) ~ 0.43
FTEE |#m XEEAER —RIRIE 12 0.25 ( 0.015 ) ~ 0.46
FTEE |HhE™ mREBER —RIRIE 12 0.43 ( < 0017 ) ~ 1.8
FEE |hEH HZHAES —RIRIE 12 0.43 (< 0.004 ) ~ 2.4
FEE |HhE™ BARAED — R IRIE 12 0.18 (< _0.004 ) ~ 0.86
FEE |hEH b 13 3B 5E —RIRIE 12 0.26 (< _0.004 ) ~ 1.3
FTEE |hE™ I\ BIE H —HRIRIE 12 0.20 (< _0.004 ) ~ 1.3
FEE |BIH BEBKERDYRE —RIRIE 12 0.069 (< 0016 ) ~ 0.43
FTEE |EEh BEARE —RIREE 12 0.17 (< 0016 ) ~ 0.63
FTEE s Eh Wy ERER —RIRIE 12 0.18 (< 0017 ) ~ 0.65
FEE B3m BHERER —RIRIE 12 0.24 ( 0.017 ) ~ 15
FEE | EIREEER |FERDIILNA—AMEE— — R IRIE 12 0.054 (_< 0015 ) ~ 0.46
RIRER P RX FRRXEES —RIRIE 12 0.50 ( 0.11 ) ~ 1.2
A  |FER EEREIER — R IRIE 12 0.60 (o1 ) ~ 15
RIRER BEX BEXBXARB —RIRIE 12 0.47 0.15 ~ 1.1
RE# | KHARX AHEEHEE —HRIRIE 12 2.7 ( 0.12 ) ~ 10
RE# |REX RABX K ET B —RIRIE 12 1.0 0.22 ~ 3.1
ERE#  |#BEX BEXEHARE —hRIRIE 12 0.70 0.20 ~ 1.6
RE#S  |RUX BIARXBEHHE —RIRIE 12 1.8 0.49 ~ 5.1
RE# IR TIRNREING —RIREE 12 15 ( < 004 ) ~ 6.7
RE# |N\EFH AEFHF —RRIRIE 12 0.27 0.055 ~ 0.92
BE#  |/\EFH HERD —RIREE 12 0.31 0.083 ~ 1.0
RE#  |/hEHT hEHTREL F— — R IRIE 12 0.45 0.18 ~ 1.1
RE#E  |EKHH BARIHMERER —RIRIE 12 0.54 0.20 ~ 1.4
RE# |FAZEREEN |ALENERE —HRIRIE 12 0.17 (< 004 ) ~ 0.44
AE)IE |[EETmHX B =R/NERE —iRIRE 12 0.29 0.031 ~ 1.4
#AXRINE lEHEIEX  |EE)IGE —RIRIE 12 2.7 0.41 ~ 11
AE)INE IGHIEX | XERIERD —RIRiE 12 0.86 0.022 ~ 3.9
HAENE JIEHIBX | ERER — iR IRIE 12 0.84 0.058 ~ 3.6
MENE NBHPEX  |PEAER — RIS 12 0.69 0.11 ~ 2.5
HE)E NBHEEX |ZEAED — iR IRIE 12 0.39 0.14 ~ 1.1
#ARINNE HERTPRX |HEAAER — RIS 12 0.46 0.089 ~ 1.9
MmE)IE (#EEEN BETRE 2— —RIRIE 12 0.25 (< 0.029 ) ~ 0.96
#ERINE |#BEET WMEEN&A —HRIRIE 12 0.22 (< 0.029 ) ~ 0.91
AmE)E [FiEH BINER —RIRIE 12 0.15 (< 0.006 ) ~ 0.46
#ME)IE [ERT BRTERE —HRIRIE 12 0.33 ( < 0.029 ) ~ 1.1
XIS |BERH #E R /NERE —RIRIE 2 0.46 0.22 ~ 0.71
#ERINE |/MAEET INHIETRE —HRIRIE 12 0.093 ( < 0.006 ) ~ 0.24
#axR)IE |FHH EEHEE —iRIRE 12 0.11 (< 0.006 ) ~ 0.30
#ERINNE |EXH EXT&EAE — R IRIE 12 0.22 0.023 ~ 0.53
AR  |FAmERX ALB — RIS 12 0.23 (< 0.009 ) ~ 0.76
FREE  |FAHmIERX WER — AR IRIE 12 0.16 ( < 0.009 ) ~ 0.52
FRE |(Weh N 51 —RIRIE 12 0.08 (< 0.6 ) ~ 0.30
FaE | E#m BREH —RIREE 10 0.31 (< _0.06 ) ~ 0.75
FRE  [BAH FEB —RRIRIE 12 0.08 (< 0.6 ) ~ 0.22
SWE |Elm ELZEE —RIRIE 12 0.050 ( 0.009 ) ~ 0.16
EIWE  |gikmh INERBEWE — AR IR 12 0.06 (< 003 ) ~ 0.18
AR £ R ERPE /S —RIREE 12 0.060 ( < 0012 ) ~ 0.21
BIE  |EEW tERER — AR IRIE 12 0.010 (< 0013 ) ~ (< 0.026 )
AR INATH INBITE B —RIREE 12 0.010 ( < 0013 ) ~ (< 0026 )
BHE |[EHM BHBE —hRIRIE 12 0.16 0.029 ~ 0.39
BHE BET MAED —RIRIE 12 0.13 ( < 004 ) ~ 0.20
BHE |#EIh BB — iR IRIE 12 1.0 017 ~ 34
BHE et =EB —RIRIE 12 0.19 (< 004 ) ~ 0.53
I Eiliodiil R h&AETE —RIREE 12 0.84 0.14 ~ 2.4
WHE  |ELXFHET EHAES —RRIRIE 12 0.13 ( 0.033 ) ~ 0.30
WWRE |E7IITRH  [ETZILTRBER —RIRIE 12 0.34 0.065 ~ 1.1
YN et RILBRIE R —HRIRIE 12 0.22 ( 0.09 ) ~ 0.57
EFE psadiil B/ HXMTE —RIRIE 12 0.23 0.082 ~ 0.40
EHE | EHFH =ZHE —HRIRIE 12 0.21 0.060 ~ 0.41
EHFE  |#XH WARE — RIS 12 0.47 0.12 ~ 0.88
EHE |[ELHM LtHB — R IRIE 12 0.58 0.31 ~ 0.84
RHFE |[#REAH Hiil) —RIRIE 12 5.1 0.56 ~ 21
RHE (Eak; ] FHE —HRIRIE 12 1.3 0.14 ~ 4.0
IKREE (KRBT Iz B i L &R E B —RIRIE 12 0.49 (< 0.008 ) ~ 1.7
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IFEE  |REH P RBIER — iR IRIE 12 0.17 (< _0.009 ) ~ 0.38
B2 | KiEH KiFHBAHA & BB E S BT — RIS 12 0.14 ( < 0012 ) ~ 0.31
FBEE |BBRTH BERAER —RIREE 12 0.17 0.034 ~ 0.30
BEE |BETEKX ERAER — RIS 12 0.059 ( < 0.007 ) ~ 0.30
BREE |BEMHERX R/ NERAE D —RIRIE 12 0.048 (< 0.007 ) ~ 0.19
BEE  |BEmEBIX |RAESRERIES — R IRIE 12 0.18 ( 0.009 ) ~ 0.54
BREE | BMHERX BENEBER —RIRIE 12 0.054 ( 0.012 ) ~ 0.15
BEE  |BETEKX |BKEKE—/NERAER —RIRIE 12 0.051 ( < 0.007 ) ~ 0.17
gafE 2 AT X L ERBIE B —RIREE 12 0.035 (< 0.005 ) ~ 0.13
B2 E ERlT ERT&E —HRIRIE 12 0.23 ( 0.029 ) ~ 0.44
BEE [E+H [ERE/NERB —RIRIE 12 0.23 0.15 ~ 0.34
BEE  [ZHET EHMEAE —HRIRIE 12 0.083 (< 0.020 ) ~ 0.18
d L #hlh BIHEE —RIRIE 12 0.063 ( < 0016 ) ~ 0.14
BEE [RHM RAMEHAB —RIREE 12 0.076 (< 0.020 ) ~ 0.13
ZHE |FHETPIIRX|EHZME —RIRIE 12 0.41 0.11 ~ 1.3
ZHE L2EEMERX [EBEB —RIRIE 12 0.51 0.12 ~ 1.2
ZHE |AoERETERX  |FI/DER — R IRIE 12 0.85 0.16 ~ 2.2
ZHE LEETER |BKNERB —RIREE 12 0.52 0.085 ~ 1.3
ZHE |Z28EH N 1) — R IRIE 11 0.11 ( 0.035 ) ~ 0.26
ZHE 2Eh ZIIB —RIREE 12 0.091 ( < 0019 ) ~ 0.22
ZHE fiE] U5 1 fif i v AR AR L K KGRI B —HRIRIE 12 0.028 (< 0.0019 )~ 0.067
BHE |—Emh —EmREBEASAIER — RIS 12 0.27 0.063 ~ 0.85
ZHE |¥HT FHMEFEEF — iR IRIE 12 0.090 (< _0.009 ) ~ 0.20
ZHE SHM &R B (= T HT) —RIRIE 12 0.094 ( 0.011 ) ~ 0.22
ZHE  |/hEH MNEERE —RIREE 12 0.22 0.042 ~ 0.59
EHE |HEBEH EX Tk L) —RIRIE 12 0.35 ( 0.017 ) ~ 0.92
=58 mAEhH LESKAIER —RIREE 12 0.11 (< 0.007 ) ~ 0.34
=58 mAmH MAHmEESRAES — R IRIE 12 0.052 (< _0.005 ) ~ 0.32
=558 NG MARREE /N —RIRIE 12 0.046 (< 0.008 ) ~ 0.11
=58 |E£TH =—ERRATE —RRIRIE 12 0.36 ( 0.016 ) ~ 1.4
=58 |B#EW FEZRrEPER —iRIRE 12 0.058 ( 0.013 ) ~ 0.10
HBEE | KEH HBEERAREE 2— —HRIRIE 12 0.10 ( < 0.007 ) ~ 0.47
HBEE |EHRT ERIZER — RIS 12 0.071 ( < 0.023 ) ~ 0.16
#EE |REM REER — iR IRIE 12 0.075 (< _0.009 ) ~ 0.24
HBEER HEH 525 —IRIRIE 12 0.17 ( 0.037 ) ~ 0.55
#FEE |E§Bh BE5ERTE — iR IRIE 12 0.059 ( 0.019 ) ~ 0.16
#HEE  |FEATH BEIR —RIRIE 12 0.088 (< 0.023 ) ~ 0.17
REE |ESTERRX |AEFEBE —RIRIE 12 0.098 0.026 ~ 0.15
WARRE  [AHEBAMENLET |AEILE —RRIREE 12 0.70 0.22 ~ 1.9
KB | KEHFEHFR |EEPERE —RIRIE 12 0.90 0.39 ~ 1.9
ABRAF | KERMHIER B/NERB —HRIRIE 12 0.21 ( 0.043 ) ~ 0.66
ABREE B hEX ENER —RIRIE 12 0.24 0.051 ~ 0.96
ABRAF |2 E2hHTRE —RIRIE 12 0.37 0.095 ~ 1.3
ABRAEF  |WRET wHEMILEBERS —iRIRE 12 0.16 (< 0.006 ) ~ 0.69
ABRAF  |&E#i™ EB —RIRIE 12 0.25 0.027 ~ 1.0
RBRAF L alitl WAETEE —IRIRIE 12 0.35 0.044 ~ 1.5
ABrAEE _ [\ETH INETREMB — AR IRIE 12 1.1 0.11 ~ 2.6
ABRAF RIEFH EHEPERE —RIRIE 12 0.069 (_< 0008 ) ~ 0.32
ABRAF  |EHEMH ERAMTERAB —RIREE 12 0.33 0.041 ~ 0.99
AR |EEIT BEEINT&ME —RRIRIE 12 0.31 0.060 ~ 0.84
KEREE  |BEHFH BHFTEME —RIRIE 12 0.52 ( < 0008 ) ~ 1.4
pN L PN i AR 2—B — AR IR 12 2.4 0.75 ~ 5.6
EEE |#wFTRHEX |RABEBHEAITES —RIRIE 12 0.053 ( 0.0019 ) ~ 0.28
EEE |#PFHTERX HEXKBER —HRIRIE 12 0.18 ( 0.0025 ) ~ 0.89
EEE |#FTEERX |EEEHAKIES —iRIRE 12 0.055 (< 0.0011 )~ 0.20
EERE [HFHmEKR |BKXKAES — AR IRIE 12 0.050 (_< _0.0011 )~ 0.21
EEE #EmIX BEREEATAED —RIRIE 12 0.040 (< 00011 ) ~ 0.094
EEE |#WFEHARX FAHAXSEIER — iR IRIE 12 0.087 (< 0.0011 )~ 0.33
EEER JEERT INKBRIER —RIRIE 12 0.15 ( 0.014 ) ~ 0.35
EEERE |[EB&H E/AaikBE —RIREE 12 1.6 0.23 ~ 6.7
EER BEH AAGREIEE2— —RIRIE 12 0.079 0.026 ~ 0.19
EEE |[AEM AEm&EANE —RIRIE 12 0.13 ( < 0013 ) ~ 0.43
EEERE  |MAXH NATERIB —HRIRIE 12 0.13 ( < 0.008 ) ~ 0.74
EEE Pl mEIE —RIREE 12 0.13 ( 0.016 ) ~ 0.42
EEE |EWh =R RER TS — R IRIE 12 0.19 (_< 0.008 ) ~ 0.74
EEE j=elo) oD HEME —RIRIE 12 0.43 (_< 0008 ) ~ 2.0
ZRE |RBEH EBRERER — R IRIE 4 0.12 (< _0.006 ) ~ 0.26
ZRBE |RBEW BAHASELEAER —fBIRIE 12 0.24 (< 0.006 ) ~ 0.88
ZRE |XEh X¥EE — iR IRIE 12 0.17 ( 0.015 ) ~ 0.69
FUE (FFlh AAEILAT —RIRIE 12 0.13 ( < 0013 ) ~ 0.44
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foFRLE [FoFlh A EIS1= T VA — — iR IRIE 12 0.13 (< 0022 ) 0.40
MFLE |BEh B A /NER —iRIRIE 12| ( 0.049 ) | (< 0.006 ) 0.14
fFLE |BEHT FHMYELRER —RIREE 12] ( 0.054 )| C < 0.006 ) 0.14
ERE |BWH ERETHEISTE — RIS 12 0.027 (< 00019 ) 0.092
EWE [KFmh SREXRFREMS —RIRIE 12 0.094 (_< _0.006 ) 0.57
ERE |B&mh ERNEEEREMB — R IRIE 12 0.031 ( < 0.006 ) 0.12
SRE |#TIh EENAING) —RIRIE 12 0.018 (< 0.009 ) 0.061
i L2 Elf L X BEE/NEAR —RIRIE 12 0.070 ( 0.012 ) 0.17
fiE] LU e L e X EE /N —RIRIE 12 0.42 0.029 2.1
EIWE  |B8hm EEENS — R IRIE 12 0.084 ( 0.013 ) 0.21
i L2 FEIH XEERE —RIRIE 12 0.064 ( < 0011 ) 0.16
EWE  |EHh HHEXSAER —HRIRIE 12 0.066 ( 0.029 ) 0.15
i L2 i REAKBER —IRIRIE 12 0.14 ( 0.011 ) 0.42
LEE |LEEHARX HO/NERBIED —RIREE 12 0.035 (< 0.005 ) 0.085
LEE |[EETREER|RIEEREMATES —RRIRIE 12 0.082 (< 0005 ) 0.24
LER |Bm =RINERE —RIRIE 12 0.021 ( 0.004 ) 0.050
LER |&W BE/NMNERB —HRIRIE 12 0.023 (< 0.004 ) 0.055
LEE |EEM EERERE —RIRIE 12 0.024 (< 0.004 ) 0.19
LEBE  |fElm B/INERE —RIRIE 12 0.39 ( 0.013 ) 3.2
LEER  |fElm BB/NER S —RIRIE 12 0.45 0.051 2.2
LEER  |fElm WK /NERB —HRIRIE 12 0.048 (< 0.004 ) 0.20
L5 | KM PN VN D) —RIRIE 12| ( 0.004 )| C < 0.004 ) (< 0019 )
LER |HELEEH RLEESBEE/NERE —HRIRIE 12 0.031 (< _0.004 ) 0.32
wog TEA™ AEINER —IRIRIE 12 0.014 (< 0.004 ) 0.037
WOg [ FEm TR IR AR E R —RIREE 12 0.020 (< 0.004 ) 0.038
Wwog FET FHERETE —IRIRE 12 0.027 (< _0.005 ) 0.078
WOg  |#h FEEEIEI—F —RIREE 2 0.014 ( < 0014 ) 0.022
WOg  |[EEW RERNERB — R IRIE 12 0.025 ( 0.004 ) 0.046
wag fh EIIhERE —RIRIE 2 0.020 0.017 0.023
WOE  [RIEFAE  |(fIRKIZa=FT1—t 53— B —RRIRIE 2 0.030 0.018 0.041
EEE  |BMm BFE —RIRIE 12 0.030 ( 0.0038 ) 0.14
mEE  |FEh XBEB —HRIRIE 12 0.017 ( 0.006 ) 0.068
EERE [REMLSH |ILER — RIS 12 0.20 (< 0.0029 ) 1.0
FIE |E¥mH BT AXRIZ A =T 53— — iR IRIE 12 0.066 ( 0.009 ) 0.17
FIIE AE™ AETEFE —IRIRIE 12f ( 0.06 ) | (< 009 ) ( 0.18 )
FNE RS R T EFE — iR IRIE 12| ( 0.05 ) | C < 009 ) ( 0.15 )
FINE  REH HEER —RIRIE 12 ( 0.06 ) | < 009 ) ( 0.18 )
FINE [FNBESH |ESHEERH —RIRIE 12| ( 0.06 ) | C < 009 ) ( 0.17 )
BIRE  |Wlh EAERD —RRIRIE 6 0.014 ( < 0.005 ) 0.028
ZiRE FHE™ nid: Valo —RIREE 12 0.015 ( < 0010 ) 0.088
ZRE |FEET BPFELH-REXEL S— —HRIRIE 12 0.026 ( < 0010 ) 0.15
SHE |SxmH NTEB —RIRIE 6| (004 )| ( < 008 ) (< 008 )
BHE  |EXhm HER — R IRIE 6] ( 0.04 ) | ( < 008 ) (< 0.08 )
SHE  |'T= T=E —RIRiE 12 0.0026 )] (< 0.0022 ) ( 0.010 )
SHE  |ZABH [BABSEFKRE — R IRIE 12 0.0022 ) < 00024 ) (< 0.007 )
EEE  |[tAMTELRR|ERE — BRI 12 0.011 (< 0.005 ) 0.028
BEE  |damdnakx | dEAMNE — AR IRIE 12 0.031 (< _0.005 ) 0.12
FEE  |[Gramsasx |SRER —RRIRIE 12 0.012 (< 0005 ) 0.034
fBEE  |[fEEAHmEX BB —RIREE 12 0.037 0.0063 0.11
fBEE  (ABXKM WEhEERE —HRIRIE 12 0.024 ( < 0.005 ) 0.075
& 2 H)IlH BIIE —RIRIE 12 0.017 (< 0.006 ) 0.055
BEE  |REm ENEID) —HRIRIE 12 0.042 ( < 0.008 ) 0.10
EERE |[tEET EER —RIREE 12| ( 0.017 )| < 0.006 ) 0.082
EEE |[#REM AIEH — AR IRIE 12] ( 0.010 )| ( < 0.006 ) (< 005 )
RIFE |RGH N ERER —RIRIE 6] ( 0.006 )| ( < 0005 ) 0.019
EIBE |HEmH EHETA REE — AR IRIE 4 (010 ) | (< 020 ) (< 020 )
EIFE Xt B (E 5% %t B BR 1% FRUBI E Al —RIRIE 12 0.0033 )] (< 0.0019 ) (_< 0010 )
BEEARE  |E£™H FRATERME — iR IRIE 12] ( 0.019 )| C < 0.006 ) 0.081
NN o Aot FFHERBERD —RIRIE 12 0.0039 )] (< 0.0019 ) ( 0.011 )
AR i ar: Al FERETER —RIREE 12] ( 0.011 ) [ < 0.0024 ) (< 004 )
AHE HHEH FAER R R AT —IRIRE 12 0.0097 )] (< 0.0027 ) (< 004 )
ARE  [#ER HEILBLARE —fBIRE 12| (__ 0.011 )yl ¢ < 0004 ) ( < 004 )
EIFE =T ElaT I RELE — AR IR 12 0.0035 )] (< 0.0020 ) (< 0011 )
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BERESE [BREREM HEmE — iR IRIE 6] ( 0004 )| ( < 0.005 ) ~ (< 0011 )
BEREE |[BEM BER —RIRIE 2| ( 0.004 )| ( < 0.008 ) ~ (_< 0008 )
BERESE |ZE5™ =10 —RIREE 2| ( 0004 )| ( < 0.007 ) ~ (< 0.009 )
HEEE  |FEFED BEHEE —RIRIE 6] ( 0.021 )| ( < 0017 ) ~ (< 007 )
Pasbis b piE™ RS —RIRIE 12 0.089 ( < 0013 ) ~ 0.24
HEEE  55Fm BHRBMERD — R IRIE 12 0.090 ( < 0013 ) ~ 0.22
Pasbis b ESEAEEEH | [E %0 F UREL 14 FBI XE AR —RIRIE 12| ( 0.0032 )] (< 0.0017 )~ (< 0011 )

@ FEEDRTAE FEHEN EADRARE TRERGETHOHEIT. TDEEFEMEETRRLTNS,

Q RE#HE (F/ME~FZKE) DRTHE

* R/MEX IR AEDEA . RETRERETHOHE X[ <G ADKRHETRIE JELTRRLTLS,
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EFE |=Edam Eam)FREE2— ElEFEBED 12 0.0051 (< 0.0020 )~ 0.024
=2FE8 SAUEBEEHET |[{FHET—RER B 7E F 4R E D 12 0.0075 (< 0.0020 ) ~ 0.029
e |HRH RiRTh S BT R B I ElE FERED 12 0.15 0.033 ~ 0.48
mERE FEEH BRENER B 7E F 4R E D 12 0.15 0.023 ~ 0.74
mARE EFIT ERTEHAREE B4 RED 12 1.9 0.37 ~ 49
FEE =il HHE _—RELDIG EE A REA 12 0.20 ( 0.015 ) ~ 0.89
HRNE BETERRX |[BRXRAERXRIZVE ElE £ R ET 12 0.48 ( 0.009 ) ~ 2.4
#ERIE |FiFEh J\IB/INEEAR EEFLERE D 12 0.19 ( < 0.006 ) ~ 0.53
FRE W 30 B FLERED 12 8.6 2.4 ~ 17
R Feth e e (B 7E F 4 B E D 12 96 32 ~ 260
FRE M S B & F 4R E D 12 26 5.5 ~ 95
FRE  |#Em Ferh g ElE 4R ED 12 66 13 ~ 150
HaE #eth 5 (HRHHRTE) B 7E F 4R E D 12 9.6 5.6 ~ 14
=58 mAmH =EBER B4 RE D 12 0.052 (< 0.0020 ) ~ 0.25
BEE AE T KEFLEIKYt 52— B E A RE A 12 0.090 (< 0023 ) ~ 0.27
REAEF  |R#ETHEX B FELELEEm ElE £ R ET 12 1.1 0.073 ~ 2.4
ABRAF R X EFEB B 7E F 4 R E D 12 0.55 ( 0.015 ) ~ 1.1
ABRAEF  [RXE#EH RRETEME ElE 4R ED 12 0.25 ( < 0008 ) ~ 0.59
EEE o )il ES) EEFAEREA 12 0.12 ( 0.013 ) ~ 0.33
ZBE | XKfn&ldh EBLLIAR 0% 7K 5 B F 4R E T 12 0.26 0.061 ~ 0.68
SiRE Wit T XM #F0 EEFAERED 12 0.16 (< _0.009 ) ~ 1.7
EILE  |B%m WiIE B F 4 R AT 12 0.85 0.28 ~ 2.1
EILE  |B%mhm ea=0o) ElE 4R ED 12 0.10 (< _0.006 ) ~ 0.29
i L2 BEEm BEER B E A REA 12 0.12 0.031 ~ 0.23
EILE  |B%mhm Z BRINERR B F L RED 12 0.056 (< _0.006 ) ~ 0.18
EILE || SN, B F 4R E D 12 0.89 0.061 ~ 2.5
EILE  |B%mhm BREERE 3—F ElE £ R ED 12 0.15 ( 0.017 ) ~ 0.42
LER |LEEWERX A8 Hh A B & F 4 R E D 12 0.17 ( < 0.005 ) ~ 0.62
LER |LEEmRELR|RKH/NER ElE 4R ED 12 0.048 (< 0.005 ) ~ 0.16
LERE |REMEHE |EHESEKE EEFLERE D 12 0.020 (< 0.004 ) ~ 0.19
WOg  |@AmEm FARERETER ElE 4R ED 12 0.073 ( 0.005 ) ~ 0.35
g Emt EQRIRELRRE B E AR E A 2 0.16 0.056 ~ 0.26
FEIFE [REM HRETOZIERAMTERBSE [EEFEEREDD 4 12 2.3 ~ 22
EIFE  |EET ERERERTD ElE 4R ED 12|( 0.0037 )] < 0.0017 )~ ( < 0010 )
=iFE HmEh BB EEIEAT B 7E F 4R E D 12| ( 0.0040 )] ( < 0.0018 ) ~ ( 0.011 )
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EFE |—Bm —BEh=RER BB 12 0.028 ( 0.0027 ) ~ 0.087
EHRE WEmEMRR |RER e 12 0.024 (< 0.020 ) ~ 0.072
=ZERE lEmRE HES Bl 2| ( 0.010 )| < 0.020 ) ~ (< 0020 )
EHRE L Eh 2R BEBEFEEARAER e 12 0.066 0.034 ~ 0.096
RILE Jn ub:: Mt THEPHEE e 12 0.18 0.026 ~ 0.82
BER SWEFEFHTAER |ZEEHIER e 12 1.0 0.28 ~ 40
BER W) 1] EMhiEEEER e 12 0.97 0.19 ~ 1.8
BERE FHM FHEXZAB#E E 12 1.3 0.43 ~ 3.1
FEE |#m BAIER Bl 12 0.35 0.051 ~ 2.0
FEE |Hh KiEFrERER Bl 12 0.24 ( < 0014 ) ~ 0.80
RE# THERX REEREFRH e 12 1.8 ( 0.10 ) ~ 6.5
RE#  |[HHARX RB/\EY/\IELE B 12 0.48 0.13 ~ 1.1
#ARINNE BETERFX |BFXEER e 12 0.26 ( 0.008 ) ~ 0.94
#ERINE |FiFEh HHE/NMNERB Bl 4 0.19 0.066 ~ 0.30
#AEJIE | Kf0mh AIMERERELRD BiE 12 0.36 0.063 ~ 0.98
GIE £iRM WELS Bl 12 0.050 ( < 0012 ) ~ 0.14
AR Framm HFARmAER e 12| ( 0.010 )| C < 0013 ) ~ (< 0026 )
BHE |EHM BEEHE Al 12 0.18 0.027 ~ 0.50
RS il ioiiil RRET&mBESEFEIRE BB 12 0.48 0.12 ~ 1.2
I il ioiiil EBEESEFEIRE e 12 0.45 0.11 ~ 1.1
IR XA XABER e 12 0.16 ( 0.067 ) ~ 0.29
IEE FEGTH R BIE D e 12 0.35 ( 0.08 ) ~ 15
BEE  |BETEKX |BH#HBRAER Bl 12 0.056 (< 0.0018 )~ 0.24
BHEE [ENmHRX R-257HIE R el 12 0.031 (_< _0.005 ) ~ 0.098
B30 2 =85m BH=ER Bl 12 0.15 ( 0.042 ) ~ 0.31
ZHME |AEETIE [SETETASE AT nE 12 0.23 0.070 ~ 0.43
ZHE LEEMER | AihE KX ER BRI e 12 1.1 0.23 ~ 4.2
ZHE L2EETRARX [TEAEB mE 12 0.54 0.13 ~ 1.5
ZHE 28m SES e 12 0.090 0.044 ~ 0.18
BHE |—EmH —EmESRKAER il 12 0.20 0.060 ~ 0.45
EHE |2HM ¥ H 5 (TEEET) e 12 0.18 0.025 ~ 0.60
ZHE FER™ FR MR el 12 0.16 ( 0.033 ) ~ 0.28
=FE |#5EEH EE23 55 EE Rl 12 0.057 ( 0.014 ) ~ 0.15
BEER EEH BHHEZR Bl 12 0.13 ( 0.026 ) ~ 0.48
ABRAF R HERX FRERE e 12 0.65 0.034 ~ 1.6
KR AT wHET WHEZ &S Bl 12 0.25 ( 0.010 ) ~ 1.0
ABREE _ |J\EH AFERD el 12 1.9 0.48 ~ 4.6
ABRAF KR BREGEBREL 2B e 12 1.9 0.55 ~ 3.9
EEE |Ellh HE/ID BiE 12 0.50 0.077 ~ 1.1
EEE |BEET BHEE e 12 0.094 ( < 0.021 ) ~ 0.34
EEE EEM BINERE el 12 0.18 (< 0008 ) ~ 0.70
ZRE |EBEH BEERE e 12 0.13 ( 0.032 ) ~ 0.75
MFUE |SHh AR E JEIH A S EBAAET el 12| ( 0.061 ) (¢ 0.009 ) ~ 0.16
BRE |BEIH KEIRERD Bl 12 0.014 (< 0.0019 )~ 0.063
BRE |XFmWm RXFHEFHIE BB 12 0.13 0.011 ~ 0.59
SRE |#TIhm FEEHBER e 11 0.041 (< _0.009 ) ~ 0.20
EILE |HENEEE [REXTAES Bl 12 0.11 ( 0.021 ) ~ 0.22
LER |LEEHEX LR ILRITE B el 12 0.28 (< 0.005 ) ~ 1.2
LER |=ZFEMm ZEEHEE Bl 12 0.30 ( < 0.004 ) ~ 1.4
EER |#ES™ BHEER Bl 12 0.067 (< 0.007 ) ~ 0.44
BEE  [ams/\BEX |FEAEBEER e 12 0.008 (< _0.005 ) ~ 0.025
BEEE  |[EETiEZX | TEER il 12 0.020 (< 0.0012 )~ 0.050
BEE  |[ERAHhEX AER e 12 0.014 ( 0.0023 ) ~ 0.035
& 8 EEMERX |[fHEHE e 12 0.013 (< 00012 ) ~ 0.034
BEE |HEM aER Rl 12] ( 0.012 )| C < 0.006 ) ~ 0.023
RIBE | RiGH BB RIE S Bl 6] ( 0.006 )| ( < 0.005 ) ~ 0.019
EIBE AR BEAER e 12| ( 0.03 ) | € < 005 ) ~ ( 0.08 )
RERE |EEART KERT D BB 12|( 0.0046 )] (< 0.0020 )~ ( 0.017 )
AXHE  |RIREH bR TS e 12| ( 0.011 ) |« 0.0035 ) ~ (< 004 )
BEREE [EEIAH EEINANB Bl 2| ( 0.004 )| ( < 0.008 ) ~ (< 0.009 )
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